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Halbieren 
 
 
 

Das merke  ich mir! 
 
 
  
 
 
 
 
 
Die Hälfte von 30 ist _____ .  30 : 2 = ___ 
Die Hälfte von 50 ist _____ .   50 : 2 = ___ 
Die Hälfte von 70 ist _____ .   70 : 2 = ___ 
Die Hälfte von 90 ist _____ .   90 : 2 = ___ 
 
 
86 : 2 =     44 : 2 =     
80 : 2 = ___    40 : 2 = ___ 
6 : 2 = ___    4 : 2 = ___ 
 
18 : 2 =     72 : 2 =     
10 : 2 = _____   70 : 2 = ____ 
8 : 2 = ___    2 : 2 = ___ 
 
98 : 2 =     56 : 2 =     
90 : 2 = _____   50 : 2 = _____ 
8 : 2 = ___    6 : 2 = ___ 
 

30 50 70 90 


